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Answer all questions in the spaces provided.

Circle the factor of > +7x

02*

[1 mark]
X -1 -Tx X+7 X
2 C is one-third of D.
Work out the ratio C:D
Circle your answer.
[1 mark]
1: 2 2:1 1:3 3:1
. _ ) 3 9 27
3 The first three terms of a geometric progression are 7 g 16
Circle the fourth term.
[1 mark]
8L 8L 16 8L
10 14 81 32
« % Prepare | 6656
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Do not write
outside the
The equation of aline is y=-2x+4. bex
Circle the coordinates of the y-intercept.
[1 mark]
(0,4) (4,0) (-4,0) (0,-4)
Solve 10x =482 - 2x
[2 marks]
X=
6

Turn over »
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Lines A, B, C, D and E intersect as shown.

Lines A and B are parallel.

Line C

Line D

Line E

Work out the size of angle x.

Not drawn
accurately

[3 marks]

Answer

degrees

04*

2% Prepare ' 6036

Do not write
outside the
box



7 Here is an identity.

a(2x - 20)

Work out the values of aand b.

24x + Bb

[3 marks]

*05*

Turn over »
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8 Acarjourney is in two stages:

» Stage1: The car travels 120 miles in 3 hours.
» Stage 2: The car travels 60 miles at the same average speed as Stage 1.

Work out the time for Stage 2.
Give your answer in minutes.

[3 marks]

ANSWEDP e minutes

06* 2% Prepare ' 6036
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Do not write
outside the
box

9 A balloon contains 3000 cm? of air.
More air is pumped into the balloon at a rate of 120 cm? per second.
The balloon is full when it becomes a sphere with a radius of 12 cm.
Volume of a sphere = 4rr3 where r is the radius
3
Does it take less than 1 minute to fill the balloon?
You must show your working.
[4 marks]
Turn over »
*07* X5 Prepare || 6036




10

p is an even number. n is an odd number.

For each statement, tick the correct box.

Always true

p +n iseven

P xn is even

P+ p iseven

n X n is odd

[4 marks]

Sometimes true Never true

08*
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11 (a)

A bus station records the number of buses arriving at the station.

The number of buses that were delayed was recorded after every 50 buses.

The table shows some information about the results.

Total number of buses 50 100 150 200 250
Total number of late buses 15 22
Relative frequency of late buses| 0.30 0.22

Complete the relative frequency graph.

0.4

0.3

Relative frequency 0.2
of late buses

0.1

[3 marks]

0 50 100150 200 250

Total number of buses

Answer

Y

[1 mark]

11 (b) Write down the best estimate of the probability that a bus arriving at the station is late.

*09*

Turn over »
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Do not write
outside the
box

12 A, Band C are three points on a circle.
The radii from A, B and C are shown.
Not drawn
accurately
2(2x +10%)
Is AC a diameter of the circle?
You must show your working.
[3 marks]
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13 The 7th term of a linear sequence is 356.

The 8th term of the sequence is 40.
Work out the 150th term of the sequence.

[3 marks]

Answer

Turn over »
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14 (a)  Cameron and Dana sat eight tests, each worth 100 marks.

The table below shows their mean percentages after seven tests:

Cameron

70%

Dana

68%

After all eight tests, their mean percentages became equal.
In the eighth test, Cameron scored 64 out of 100.
Work out Dana’s score, out of 100, in the eighth test.

[4 marks]

Answer

Do not write
outside the
box

12*
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14 (b)  Tom drives 250 miles in 5 hours.
He drives the first 40 miles at an average speed of 40 mph.
Work out his average speed for the rest of the journey.
[3 marks]
Answer
Turn over »
13
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15 The amounts spent on books by 50 students (25 boys and 25 girls) in one month were recorded.

The table shows the information about the amounts spent by the boys.

Amount, x (£) Midpoint Number of boys
0<x< 10 12
10 X< 20 6
20 €x< 30 5
30 €x< 40 2
Total =25

The mean for the girls was £18.
Work out the mean for the girls as a percentage of the mean for the boys.

Answer

[5 marks]
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16 Hereisaquarter circle of radius 5 cm

5
om [2 marks]

Work out the area of the quarter circle.
Give your answer in terms of Tt

ANSWEL ...oooerereeeeessseersns cma2

Turn over »
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17 20 students were asked which subject they liked more, Maths or Science.
The table shows the results.
Maths Science
Male 3 7
Female 5 5
17 (a) One male and one female are chosen at random.
Work out the probability that exactly one of them liked Maths.
[3 marks]
Answer
17 (b) Two females are chosen at random.
Work out the probability that they both liked Science.
[2 marks]
Answer
2% Prepare ' 6036
*
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18 Write 64x 4°Xasa power of 2 in terms of x.
[3 marks]
ANSWEYL .
Turn over »
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19 There are 15 balls in a bag.
» 10 balls are blue.
» Sballs are green.
Two balls are taken out at random without replacement.
Work out the probability that both balls are the same colour.
[4 marks]
Answer
. 2% Prepare ' 6656
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20 A sKetch of a quadrilateral PQRS is shown.

VA S (1, 4)

P(1,1) Q4,1

0

PQRS isreflected in the line y = x
Circle the vertex that is invariant.

Turn over for the next question

[1 mark]

Do not write
outside the
box

19*

Turn over »
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21

Solve 3X2= X +5

Give your answers to 2 decimal place

[4 marks]

Answer

20*
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22 Expressions for consecutive triangular numbers are

n(n+1) and n+1)(+2)

2 2
Prove that the sum of two consecutive triangular numbers is always a

square number.

[4 marks]

Turn over »
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23

A straight line
is perpendicular to the straight line through points (3,4) and (7,10)
and
passes through the point (0,6) and another point (x,8).

Work out the value of x.

[4 marks]

Do not write
outside the
box

o2k
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Do not write

outzide the
24 (a) Let f(x)=3x-4 *
-1
Show that the expression 4f(x)- 8 f (x) simplifies to an integer.
[4 marks]
[1 mark]
24 (b) Circle the area that is equal to 64 mm?.
0.064cm2 0.64 cm2 6.4 cm2 64 cm2
9

Turn over »
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25

X:y=5:3
X+Vy =64

Work out the value of x —y

[3 marks]

Answer

END OF QUESTIONS

Do not write
outside the
box
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